


MI 'II I 
I 

/ , !I - 

/ \ ' % 4; 
d 

\ - t 
- 1 1 

I / \ 1'' \ 
\ - - 1 , I , * / 

\ \ ?  >- 1 1 

/ ! 

i /  1 3 - 

1 
I 

\ ' .  "- i t 1 8 1 

1 I 
7 ' I 

- 1 f 
\ 

'4 
\ "id 

5 
, t 

\ 

\ 

3 5 
C 1 - 

L 

i 

.. 
\ 

I hactory, development laboratories, and general ofice at  Northlake, Illinois, U.S.A. \ 1 * \ - , f ,  i - ,+. -1 
, 

1' 
I -1 

\ 1 , , , /e 4 
AUTOMATIC ELECTRIC COMqANY is an drgin&ation of desig~jing, [engineering, and \ 

I 
\ nlaqlfacturinf cpec~alists in the fields of ~ ~ m ~ u n i c a t i o n ,  electrical control,ands1l@d-arts.' , , B 

' \ Bor mo>e than sixty years tlie coinpany has geen.known throuallout the world a s  the I 
\ .  

,J ' ori~gin+tor,-andfiparent,nlan~facturer of the W w g e r  Automatic Telephone System, Today * 

i , 
I ~ t p o w ~ e r - t f ~ e  eqliipment\se'rr er over 75% of the world's autqmatic telepllones. &he same 
e re r i ence  Lad technique that lrave-grown o h  of the work of Autohatic Electric engi- , I > 
neers in the fidd of teleeione conin~unication are also being successfully appliedxon an 
ever-increasing scnle to the solntion df electrical eolitrol problems in business and indust&. - 

I, 
\ 

/ / 
1 . , 

I i I\ (' 
- \- 

- r ' .. ;, i 

,' . PRINCIPAL PRODUCTS \ , , 
! I 

- ,  / / / 
Strofuge& Auton~a t i c  Telephone Systen~s-Colur connections, and with facilities~ for special control 
'plete au?oloatic crntral-office equlpnrent for ex- senices to nieet the'needs of the user. 1 

\ chilnge arejab of any size, from stnall towns t o  the 
largest ~ ~ ~ e t > o p o l i t a n  networks. P.B.X. Stoitchboards-A com#lete range of cord- . 

lras and cord typeg for the mo ern business. - 3 ' 0 d 

-. / ~ o n l n t u n i t y  A u t o n t a t i c  Exchanges-Unattended T e l e p h o n e  ~ ~ e t r u m e n t s - ~ o d e r n  des@sFfor >- 1 
autonlatic units for snlall rural or su1)urban areas, "; 

a u ~ o m a t i c  o r  manual  exchanges, i nc lud ing  thk 
, y i t A  f a c i l i t i e s  f o r  s w i t r h i n g  i n t o  a t t e n d e d  

\ Monophone-the world's most attractive and &- exchanges. I 

\ I i \ I cient l~andset~eledhone.  , ' 
I' Apt .oma t i c  .To l l  kocir4s-An adapta t ion  of ' n ,  ,- \ - , ,  

Exchart;?-e Accessor;y ~qu ipd&t '~ - ;Aux i l i a ry  kx- S t r o w g ~  prin'ciples, tw toli"switching, resulting j n  I \ '  

change a n d  substhtion eqhipment, ' including - sitnplihcation of opktat/ora' equiptnent and -greater _ , 
tnanhai desks,  test ing appaXratus, t ransmiss ion . eron6rny of operating and tollqirntit tme .  
equ ipmen t ,  and  a 3  accessories n e e d e d  Tor t h e ,  

P r i v a t e  ~ u t o m h t i c  Exchanges--4vailable in operation and maint rna~ce  of the inodern-\tele. 
'Jaiious capacities, wi th ,  or without centrd-office , ph&e exchange. L I 

- 1' \ I , ' /  , , ,  
\ 2' .) 

- i, 

1 ;takers also of6&lectrical c o n t h  ap;aratuipr i n d i t r i a l ,  engineerink, a d  public , -, \ , 
utilit' companies, telephone appa ra tus  f o r  rqilrodds 'and pipe-line companies, I 

I , pr ivate  telephone systems of all  types, electrica1,and commupication device; fdr 
\ ' i 

i ' 
aCrcraft and  airways control, and  special communication appara tus  f o r  mili tary 

1 7 

, a n d  n d a l  departments> / r I - I 
\ 

I 
\ 

\ I 
, 

\ I  a 

, I 1 , j_ . \ I  
> 1 -  Y 

I 1 \ 
- \ . I 

I 
,- 

Copyright 1960 by Automatic Electric Corppany 4 

/ - I 1 
1 / ,  

, , 
i 

L ,  

\ 1 I 

I/ 

I --. 
L 

d 

i 

I 
3 

.. 
i 

\ I ' i 



FOREWORD 

This  bulletin i s  an up-to-date listing, with descriptions and functions, of 
the principal tools mos t  useful in the maintenance of central-office 
equipment and telephones manufactured by Automatic Electr ic  Company. 

In addition to tools such a s  screwdrivers ,  p l iers ,  and soldering i rons ,  the 
l ist ing includes a wide variety of special  tools and gauges which s e r v e  
par t icular  purposes in the maintenance of specific i t ems  of apparatus,  
a s  well a s  such devices a s  res is tance boxes, tes t  se ts ,  and the like. So 
f a r  a s  practicable,  the various tool i l lustrations a r e  grouped in c lass i -  
f ications according to use.  

The tool descriptions show, in addition to the i l lustrations,  the name of 
the tool, i t s  code number, and the use to which i t  i s  put. Included a l so  is 
supplementary information such a s  precautions to be taken and dimen- 
s ions  which affect tool use.  

All tools l isted a r e  indexed alphabetically in the front of the bulletin and 
numerically in the back. Distributing-frame tes t  plugs and cord a s s e m -  
bl ies  have not been l isted numerically but have been collected and put in 
tabular form.  

In some cases ,  tmo o r  more tools may be listed under the same  name. 
An example i s  tht. "Adjuster, Vertical Armature" having code numbers 
H-7056, H-13398, and H- 13700. Unless otherwise identified, i t  is sug- 
gested that the tool with the highest code number be ordered. This  tool 
i s  ordinarily associated with the latest  type of equipment. The lower- 
numbered tools may be better suited for older types of equipment o r  may 
be preferred by se rv ice  personnel. 

Cus tomers  in thf United States o r  possessions may obtain any of the 
tools l isted through the Automatic Electr ic  Sales Corporation, Northlake, 
Illinois, U.S.A. O r d e r s  f rom customers  abroad should be placed with 
Automatic Electr lc  International, Inc., a t  the same address .  



$$%gggggggggggggggggg8gggg$8gg~z~~:ypFF$$$$$$$ 
3 Y g z . 3 5 Y 3 Y Y 3 3 Y 3 3 3 Y 3 3 3 3 3 Y 3 3 3 3 3 3 + r G F p G +  c.c.'d =) 5 ~ 5 ' 5 ' 5 9 5 ~ 5 ' 5 ' 5 G 5 ~ 5 " ; " ; ' 5 ' ~ 5 . 5 . 5 5 ~ 5 . 5 ~ 5 ~ 5 ~ 5 . 5 ~ 5 ~ ~  m; 2 g  ,g  i - $ m g g + 3 3 3 3 3 3 3  
0 0 ~ . 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 0 9 r l : ' d m p , m c p +  ( " p , p p , p , p , p , p ,  

r. y  r+ Ci+zzgzzgz c c s z . .  . . . . . . . . . . . . . . . . . . . . . . .  y + g .  g . .  g g 3 3 3 3 3 3 y  

+>dZ m ( D m ( D ( D ( D m  

2 2 ? P  g;q 09 E 5  1.F 



CONTENTS . Cont'd . 
Alphabetic 

NAME PAGE . 

Bender (See Adjuster)  
Box. Harmonic Ringer . . . . . D-40059-A to G . . . 8 
Box. Resis tance . . .  . . H-25314-1 . . 8 

. . .  Box. Steel  Blueprint . . . H-46557 . . . 8 
. . .  Box. Steel  Tool . H-46556 . 9 

Bracket.  Tes t  Telephone . . . . D-731450-A and B . 8 
Brush. Bank Cleaning . . ~ . . H-88844-1 and 2 . 9 

. . .  Burnisher .  Contact . H-883699-1 . . 9 

Cable Str ipper  ' . . . . .  
Cert i -Lok Insertion Tool . 
Cleaning. Tool . . . . 
Cleaning. Tool . . . . . .  
Cleaning Tool. Bank . . . . .  
Cleaning Tools  . . . . .  
Clip. Busy . . .  . . . . 
Clip: Plug Cushion Placing . . . .  
Cord Assembly. Ground . 
C o r d T e s t  . . . . . . .  

H-884210-1 . . 1 0  
H-883584-1 . . . .  1 7  
H-47386-1 . . .  1 0  

. . .  H-56628-4 . . 1 1  
H-16590-1 and 2 . . . 11 
H-56628-1 and 2 . . . 1 0  
D-15455-A . . . 1 0  
H-883348-1 . . . . 11 
D-542407-A . . . 1 1  
H-74573-1 and 2 . . . 10 

. . . .  Dial Escutcheon Tool . . H-26917 . . 
Distributing F r a m e .  Tes t  Plugs  and 

Cord Assemblies  . . .  . . . . .  

. .  Extractor .  Heat Coil . H-44514-1 . . 1 3  

. . . .  Extractor .  Lamp . H-882568-2 . 1 3  

. .  Ext rac to r .  Lamp Cap . H-883114-1 . . 13 
Extractor .  Multi-jack . . . H-881425-1 . .  . . 1 3  

Fuse .  Dummy . . . . . .  . . D-57043-A . . . . 14 
Fuse .  Repair K i t  . . .  . H-14315-1 . .  . . . 14 



CONTENTS - Cont'd. 
Alphabetic 

NAME - G 
Gauge Block, Lineswitch Plunger . . . 
Gauge, J a c k  Sleeve . . * . . .  
Gauge, Manual Board P l u g .  . . . . 
Gauges, Paystation . . . . . .  
Gauge, Push-pull Tension . . . . 
Gauge, Push-pull  Tension . . 
Gauge, Push-pull  Tension . . . 
Gauge, Thickness .  a a . . 
Gauge, Thickness .  ~ o a . . .  

Gauge, G r a m .  . o . .  

Gauge, G r a m .  . . . . -  

Index 

H-7541-3 . . 
H-88409 . 
MP-5127-A a 

P-60481-4 . 
. . . .  
* m a .  

H-881513-1 
H-46795-1 and 50 
H-883596-1 . 
H-882816-1 and 2 
H-882816-3 and 4 

PAGE - 

Handle, Remover  . . . . . . H-881419-1 . . . . 16 

Impulse (deprecated,  pulse used throughout) 

Lamp, Inspection . ~ . . . . H-880922-1 . . . . . 17 
Larnp Visual F a c e  Tool . . . MP-4425-A . . . . . 17  
Lineswitch Mounting Tool . . . . H-24528 . . . . . . 17 

Monophone Tool . . . . . . . H- 507 54 . . . . . 1 7  
nfonophone Tool . ~ . . H-43172 . . . , . . 17 

P l i e r s ,  Duck B i l l .  . . . . . . H-50620 . . - .  . . . 1 8  
P l i e r s ,  Duck Bi l l  . . . . . . . H-74611 . . . . . . 1 8  
P l i e r s ,  Duck Bill 30" . . . . H-88436 (P-60481-3) . . . 18 
P l i e r s ,  J a c k  Spring . . . . . . H-880621-1 . . . . . 18 



CONTENTS . Cont'd . 
Alphabetic Index 

PAGE . 

Pliers. Insulation Skinning . . . .  
Pliers. Long Nose . . . . . .  

. . . . .  P.Liers, Oblique Cutting 
P.Li~er-s. Paystation . . . . . .  
P:Liers. Spring Adjusting (Dial Pl iers)  . 
P.1i1-rs. Wiper . . . . . . .  

. . . . . .  Plliers. Wiper Spring 
PI-oduct-Tool-Usage Guide . . . .  

%+raper. Wire . . . .  
Screwdriver . . . . .  
Screwdriver . . . . .  
Screwdriver . . . . .  
Screwdriver . . . . .  
Screwdriver. Guide Pin . . 
Scr~ewdriver. Off-set . . .  
Sc.r~ewdriver. Key Type . . 
Screwdriver. Key Type . . 
Sc~ewdriver .  Right Angle Ratchet 
Slt.eve. Plug . . . .  
Slt:~.ving, Cleaning Tool . . 
Soldering Iron. Electric . . 
Spacer. Insulating . . a 

Spacer. Insulating . . .  
Suj~port. Switch . . . .  
Switch Tester. Type 26 (Portable) 

H-25906-1 . . . 21 
H-24664 . 22 
H-45963-1 and 2 . .  22 
H-880622-1 . 22 
H-883858-1 . . .  23 
H.883182 . .  22 
H-21766 . . .  22 
H-883794-1 . 22 
H-883882 . . .  22 
H-47754-1 . 22 
D-18175-A . .  21 
D-542539-A . 21 
H-883614-1 and 2 . .  20 
D.440197.AandB . .  21 
D-44757-A . 21 
H-26221-1 . 21 
H-883635-1 . 24 

. . . .  Test.HandTelephone 
Te sit. Lamp . . . . . .  
T e s t p l u g  . . . . . a  

. Te sl Plug . . . . . .  

. Te sl Plug . . . . . .  
Te sl . Plug . . . . . .  
Test Plugs and Cord Assemblies. 

Ilistributing Frame . . . .  . . . . .  Test Set. Buzzer 
Test Set. Current Flow . . .  
Test Set. Dialing and Talking . . 
Test Set. Linefinder . . . .  
T e ~ ~ t S e t .  Portable . . . .  
Test Set. Pulsing (Varying Machine) 

. . . . .  Test Set. Rotary 
Test Set. Toll Selector " C" Relay . 
Test Set. Trunk Circuit . . .  
Test Set. Wire Chief's . . .  

. . . . .  
H.23355.1. 2. 3 and 4 
H-882790-1 (Model S) 
H-880859-1 . . 
H-881444-1 and 2 . 
H-880132-1 and 14 . 
H-882240-1 . . 
H-881174-1 . . 
H-880623-3 . . 
H-881192-1 . . 
H-882803-1 . . 



CONTENTS . Cont'd . 
Alphabetic Index 

NAME 

T e s t  Stand. Double Width Switch Base . . .  Tes t  Stand. Strowger Switch 
T e s t  Stand. Strowger Switch . . 
Tes t  Stand. Strowger Switch . . 
Test  Stand. Universal Strowger Switch . . . .  Tester.  Lineswitch 
Tool. Bending . . . . .  . . .  Tool. Tension Adjusting 

PAGE . 
H-880263-1 . 26 
H-881346-1 . 26 
H-8813116-3 . 26 
H-881346-2 . 26 . . . . .  H-881346-4 27 
H-7443 .5. 6. 7. 10. 12 and 13 . 27 
H-8829'19-1 . 29 . . . . .  H-883857-1 29 

Vertical Magnet Armature  Adjuster . H-7056 . 1 . . . . .  Vertical Magnet Armature Adjuster . H-1339;3-1 6 . . . . . .  . .  Vertical Magnet Armature  Adjuster H-137013 7 

Webbing (See Sleeving) 
Wiper. Assembly Tool . 
Wrench. Armature  Bending 
Wrench. Cam Nut Socket . . . . .  Wrench.Dia1 . . . .  Wrench.End 
Wrench. Hexagon Socket . 
Wrench. Hexagon Socket . 
Wrench. Hexagon Socket . 
Wrench. Hexagon Socket . 
Wrench. Hexagon Socket . 
Wrench. Hexagon Socket . 
Wrench. Hexagon Socket . 
Wrench. J a c k  Fas tener  . 
Wrench. Jack  Thimble . 
Wrench. Monophone Spanner 
Wrench. OpenEnd . . 
Wrench. Open End . . 
Wrench. Open End . . 
Wrench. Open End . . 
Wrench. Paystation . . 
Wrench. "S" . . .  
Wrench. "S" . . .  
Wrench. "S" . . .  
Wrench. "S" . . .  
Wrench. "S" Hexagon . 
Wrench. "S" Hexagon . 
Wrench. Slotted Nut . . 
Wrench. Socket Key . . . . .  Wrench. Spintite 
Wrench. Square Socket . . . .  Wrench. Wiper 

. . . . .  H-508:19-1 34 . . . . .  H-8831347-1 34 
H-164130 . 32 . . . . . .  H-25937 33 . . . . . .  H-23865 33 . . . . . .  H.705i3.1 31 . . . . .  H-10053-1 31 . . . . . .  H-107'72 32 . . . . .  H-11841-1 30 . . . . .  H-13748-1 30 . . . . .  H-48410-1 30 . . . . .  H-883772-1 34 
M-6656- land2  . 30 . . . . .  MP-1221-A 32 . . . . .  H-431'73-1 31 . . . . .  H-880'771-1 33 
H-880772-1 . 33 . . . . .  H-880773-1 32 . . . . .  H-880672-1 33 
P-60481-2 . 33 . . . . . .  H-7062 32 . . . . . .  H-7063 33 . . . . . .  H-20309 33 . . . . . .  H-5041118 32 . . . . . .  H-10774 30 . . . . . .  H-207C13 32 . . . . . .  H.706E1.1 31 
H-8837 93.1. 2 and 3 . 3 . . . . .  H-46427-1 32 . . . . . .  H.7061.1 31 . . . . . .  H-7057 34 



ADJUS~I'ER, ARMATURE H-7056 ADJUSTER, PlStMATURE H-56518 

Approxlrnately 5-25/32"---C 

For use  on Strowger switch ro t r ry  armature 

Approxlmately 5" 

,114" saw slot in each end 

For use on Type 10 alternating current  relay 

ADJUSTER, ARMATURE H-88502-1 

ADJUSTER, ARMATURE H-14768 

Approximately 4" 

e lever 

&Armature adjuster 

ADJUSTING THE ARMATURE LEVER 

For u s e  on horizontal  (Class A )  re lays  

.115" width of slot In each end 

Fo r  use on Type 57AL relay 

ADJUSTER, P1,RMATURE STOP H-46410 

.055" slot 

For use on 8 and 2 *position mechanical indicators on 
Power S ~ p e r v i ~ s o r ' s  Board 



BULLETIN 540 

ADJUSTER, ARMATURE STOP H-14769 ADJUSTER, DETEIVT H-46413 

-.- Approximately 5" 

- T 
-a 

V19" slot in each end 
8 

Armature stop 

Armature stop adjuste 

hDJUSTMENT OF ARMATURE BACKSTOP 

F o r  use on 1.iorizontal (C lass  A) re lays  

f 
.015" slot 

ENLARGED VIEW 

For use on 8 position mechanical indicators in Power 
$upervisor's Board, paystation springs and dial governor 
wings 

ADJUSTER, DOUBLE DOG H-7067 

3,132" slot in each end 

ADJUSTER, BANK CONTACT H-7068-3 

v-. Approximately 11-1/16" 4 

1/64" slot 

Sprine adjuster 

Stationary 
detent 

For  use on plunger lineswitch bank contacts ADJUS'I'INC STATIONARY DETENT 

For use on Strowge~r switch double dog 

ADJUSTER, CAM 
ADJUSTER, FRAME 

H-47202 

i---- Approximately 6-3/4" 
I 1 

~ p p r o x i m a t e ~ y  2"- ------------A =*i- I 

1 I 

Both slots .028" min. and .030" max. 1/8" slot 

For use on SYrowger switch multi-level normal post cam For use on plunger lineswitch bank frame 



MAINTENANCE TOOLS 

ADJUSTER, PAYSTATION 

-- 

P-60481-1 ADJUSTER, SPRING 

DETAIL NO. 1 

For  u s e  in adjusting po la r  r e lay  of pre-pay and post- 
pay paystations (adjusting upper housing lock bracket) 

ADJUSTER, PLUNGER ARM H-10001-3 
F o r  u s e  on plunger  l ineswitch, hor izontal  (Class  A) 
re lay ,  cam and o f f -normal  s p r i n g s ,  v e r t i c a l  wiper 
s p r i n g  and backstop.  

ADJUSTER, SPRING H-16978-1 

r- Approximately 6-5/8"--------- -I 
1/8" slot width 

For  u s e  on plunger lineswitch .0319" saw slot  

ADJUSTER, ROTARY PAWL H-23413-1 F o r  use  on ro ta ry  lineswitch re lay I 

5/64" slot  

ADJUSTER, SPRING 
F o r  use  on Strowger switch rotary  pawl 

-- 

ADJUSTER, SPRING H-7059 

3/64" slot on each end 

For  use  on Monophone hook switch spr ings  F o r  use on rotary  lineswitch. 



BULLETIN 540 

ADJUSTER, SPRING 

-- - -- 

H-267'7'7 ADJUSTER, SPRING 

Approximately 6-3/8" 

e ~ > -  

1/32" saw slot in each end 
I I 

022" slot on each end 

For  use on Type 27 manual relay 

ADJUSTER, SPRING H-45590 
ADJUSTING SPRINGS TO MEET GAUGING 

REQUIREMENTS 

F o r  use on horizontal (Class A )  type relays 

ADJUSTER, SPRING * H-24600 
I 

.039" slot on each end 

Approximately 5-7/16"- 

\ 
For use  on Type 27 manual relay 

.04011 slot width ,028" slot width 

ADJUSTER, SPRING H-46411 
F o r  use  on ?horizontal (Class  A)  relay spr ings  

1-4 Approximately 4-1/8"-1 

ADJUSTER, SPRING H-42873 

Enlarged views 

.018" slot in center of each end 
,020" slot on each end 

For  use  on 8 and 2 position mechanical indicator on 
Power Supervisor ' s  Board / 

Spring adjuster 

,-Lever spring 

ADJUSTER, SPRING H-46716-1 

,020" slot on each end P DJUSTINC LEVER SPRINGS FOR TENSION 

F o r  use  on 'horizontal (Class A )  relays F o r  use on plunger lineswitch line re lay spr ings  



MAINTENANCE TOOLS 

ADJUSTISR, SPRING H-46974-1 ADJUSTER, SPRING H-64980 

Approximately 4-15/16"-1 

$3 

.014" Saw slot 

For use (:In class  "S" relay 

ADJUSTER, SPRING H-46975-1 

.014" + .001" B 8 S gauge saw slot 

For use on c lass  "S" relav 

Approximately 6" 4 
I I 

,022" slot in each end 

For use on minor type relays 

ADJUSTER, SPRING 

ADJUSTER, SPRING H-64670 

Approximately 6"-_i 

SP 

Rotor 

Approximately 5-3/8" 

METHOD OF USING ROTOR RELAY CONTACT 
SPRING ADJUSTER 

For use on rotor  relay contact springs 

For  use on Type.27 manual relay 

ADJUSTER, SPRING H-88390 

,034" slot ,023" slot 

For use on Type 26 lever keys 



BULLETIN 540 

ADJUSTER, SIPRING H-88504- 1 ADJUSTER, SPRING 
and 2 

Both ends alike \ 

H-88504-1 (.034"slot in each end) 
H-88504-2 (.018'klot In each end) 

For  use on Type 57 relays 

ADJUSTER, SPRING 

k-.- Approx. 6 112 "-4 

F o r  u s e  on T y p e  57A r e l a y  

ADJUSTER, SPRING HOLDER H-46412 

1 
s7 4. 

.042 slot 

For use on 8 and 2 position mechanical indicators on 
Power Supervisor's Board 

F o r  use  with 'Type 5 7 - 4  re lays .  Special b a c k  to back 
mounted rela:,.s. 

ADJUSTER, VERTICAL ARMATURE H-13398-1 

ADJUSTER, SPRING H-  881603-1 

Approx. 6 112" 

For  u s e  w i t h  'Type 57-A r e l a y s  

6 

Approximately 5-3/8"- -+ 

1 

1/8" slot on each end 

For use on Strowger switch vertical a rmature  



MAINTENANCE TOOLS 

ADJUSTER, VERTICAL ARMATURE H-13'700 ADJUSTER, S T E P P I N G  TOOL H-881384-1 

=% 
-. o a t  7 
F 

Approx mate5 4" 

I 1  I I 
F o r  u s e  with type  44 rotary switch 

1/8" slot on each end 

For u s e  on Strowger switch vertical and rotary armature 

A D J U S T E R ,  A R M A T U R E  

ADJUSTER,  SPRING H-883998-1 

C 4  I 

t 
For u s e  on B a r R e l a y  (Type  59 D e t e c t o r ) .  

F o r  u s e  on Type 57-A r e l a y  

ADJUSTER, SPRING H-883999-1 

ADJUSTER,  P O L E  P I E C E S  H-883595-1 

For u s e  on p o l a r i z e d  r e l a y  F o r  u s e  on U a r R e l a y  (Type  59 D e t e c t o r ) .  



BULLETIN 540 

A D J U S T E R ,  SPRING H-884000-1 BOX, RESISTANCE H-25314-1 

For use on BarRelay ( T y p e  59 Detector). 

A D J U S T E R ,  SPRING H-884148-I For use in mechanical adjustments of switches and relays 

For Class  E r e l a y .  

A D J U S T E R ,  IBACKSTOP and 
AR MATIJKE ARM 

For C l a s s  E I-e!ay. 

8 

BOX, HARMONIC RINGER D-40059-A 
B,C,D,E,F,G 

Approximately 1' -7  3/4" high x 7 1/2" wide x 5 1/4" deep 

A (Multiple Rtng) E (Multiple Ring-No Key) 
B (Non-Multiple Ring) F (Non-Mulliple ring-No Key) 
C (Non-Multiple Ring-No ~rduction Coil) G (Decimnlc Rirg) 
D (Multiple Ring-No induction Call)  

For use with connector routine test se t s  



MAINTENANCE TOOLS 

BOX, SrI?EEL TOOL H-46556 BURNISHER, CONTACT H-883699-1 

F o r  use in cleaning spring contacts. 6 

For  general u s e  

BOX, S'TEEL, BLUEPRINT H-46557 

Approx. 4' 

BRUSH, BANI< CLEANING H-88844-1 
and 2 

- .- - Approximately 1'-2" - - 

For  use  in holding maintenance prints 

ASSEM. 1 

BRACKET, TEST TELEPHONE D-731450-A&B 

4 
A-Gray b.;iking enamel 8-Light gray equipment enamel 

ASSEM. 2 

For use  with hand tes t  telephone For  use in cleaning Strowger switch banks 



BULLETIN 540 

CABLE STR.IPPER 11 - 8842 10 - 1 CLEANING TOOLS 

CLEANING 'TOOL H-47386-1 

I---- Approximately 4 - 1 / 2 " ~ ?  

For  use  on ro ta ry  switch wiper sp r ing  hubs and banks 

C L I P ,  BUSY 

H-56628-1 
and 2 

Type 13 and 14 rotary switch 

H-56628-1 

Approximately 6-7/16" 

D-542539-A Sleeving 

\ \ 

\ \  '- ----- ------- 
\ .-_-___ _ _ _  _ -- - 

Type 13, 14, and 45 rotary switch 

For  u s e  on , ro ta ry  lineswitch banks 

CORD, TEST H-74573 -1 
and 2 

ASSEM. 2 

For  u s e  with current  flow tes t  se t  H-88733-1 

For  use in busying equipment not equipped with busy key 



-. MAINTENANCE TOOLS 

CLEAI'JING TOOL, BANK H-16590-1 CLIP,  PLUG CUSHION PLACING H-883348-1 
and 2 

i ' 
DRAWING H-16590-1 200 p o i n t  .042*" th!ck 
DRAWING H-16590-2 100 poir~t  .072" thick 

For use on Strowger switch banks 

CORD ,ASSEMBLY, GROUND 

For use in busying out of order  lines 

C LJ3AN:ING TOOL H-56628-4 

Approximately 5-7/8" 

For use in putting plug cushion over plug. and on cord 

For use on Type 44 rotary switch banks 



BULLETIN 540 

DIAL ESCUTCHEON TOOL ,H-26917 

lever 

T O  UNLOCK ]ESCUTCHEON RING ESCUTCHEON RING UNLOCKED 

T O  LOCK ESCUTCHEON RING ESCUTCHEON RING LOCKED 

For use ii!i removing dial escutcheon 



MAINTENANCE TOOLS 

EXTRACTOR, LAMP H-882568-2 5XTI?ACTOII, PJIULTI-JACK IT-381425-1 

EXTRACTOR, HEAT COIL 

I 
F u r  u s e  in removing switchboard lamps 7 

I 
I H-B8/4 25-/ f 
J % 

Approximately 5-1/4" 

-. 

H-44514-1 

F o r  u s e  in  r e m o v i n g  Automat ic  E l e c t r i c  Company 
Type  6'76 heat coi ls  

g 
?'g 
%I* 

EXTRACTOR, LAMP CAP 

4 

For.u!:;e in ex t rac t ing  l a m p  caps ,  number  pla tes  and 
W. E. Co. heat coi ls  



BULLETIN 540 

FUSE, DUMMY D-57043-A 

1-----~pproxlmatel y 2"-----A 

Gray fibre 

For use in vacant a la rm type fuse locations 

FUSE REPAIR KIT H-14315-1 

Flux Alutomatic Electric Company Specification 2003 
Fuse wire A~utornatic Electric Company Specification 5129 

(1-1/3, 3 and 5 amperes) 
Solder Ailtomatic Electric Company Specification 2001 

C o n s ~ s t i n g  of fuse wire,  so lder ,  soldering f l u  and sandpaper 

For  use wit.h indicating and alarm fuses 



-. MAINTENANCE TOOLS 

GAUGES, PAYSTATION P-60481-4 GAUGE, JACK SLEEVE H-88409 

DETAIL NO. 4 

For use in adjusting polar relay of pre-pay and post-pay 
paystations (thickness, fee ler  gauges) 

 GO" Diarn. 

.Appraximately 2-3/32" I- 
For  use  on manual switchboard jacks 

GAUGE 
GAIJGE BLOCK, LINE SWITCH H-7541-3 
PLUNGER 

GAUGE BLOCK 
!')ET. # 2  

For  u s e  in  adj  

* 

.ng plunger of plunger lineswitch 

H-882816-1 
and 2 

0-30 G r a m s  (H-882816-1) 
0-150 G r a m s  (H-882816-2) 

For  general  use 

GAUGE, MANUAL BOARD PLUG MP-5127-A 
GAUGE 

Opening .2455"srnax., 2445" min. 

For  u s e  in  checking worn plugs 

H-882816-3 
and 4 

Lp...-4+'-d 

10-0-10 Grams  (H-882816-3) 
50-0-50 Grams  (H-882816-4) 

For  u s e  i n  adjusting SATT (Strowger Automatic Tol l  
Ticketing) d ia l  sp r ings  



BULLETIN 540 

GAUGE, P U S H - P U L L  TENSION H-884369-2, GAUGE, P U S H - P U L L  TENSION H-881513-1 
*i.' 

0-1 0 0 0  G r a m s  J C - - * ~ p r o x i l l u t e l y  15-I/~J.-----) 

For g e n e r a l  use 0-500 G r a m s  ( A c c u r a t e  75 t o  500) 
0-16 O u n c e s  

F o r  g e n e r a l  m a i r i t c n a n c e  u s e  and  m e a s u r i n g  t e n s i o n  
on re t rac t i l e ,  "double dog" and i n t e r r u p t e r  s p r i n g s  o n  
S t rowger  and o t h e r  t y p e s  of swi tches .  

GAUGE, PUSH- P U L L  TENSION 
(An inexpensive gauge f o r  u s e  i n  the hor izon ta l  posi t ion 

H-884369;il 
only) ; '.,& 

J - 

F'or g e n e r a l  u s e  

0-200 G r a m s  

GAUGES, THICKNESS H-46795-1 and 50  

( * Gauge 
.002 " 
.003 " 
.OW " 
.005 " 
.OM " 
.007 " 
.008 " 
.ow " 
.010 " 

-. --  
width tapered ) 

,011 " 
,012 " 

e.012 " 
,013 " 
.014 " 
.015 " 
,016 " 

*.016 " 
.017 " 

HANDLE REMOVER H-881419-1 

F o r  u s e  i n  r e m o v i n g  u n t h r e a d e d  handles  of l e v e r  k e y s  

GAUGE, THICKNESS H-883596-1 

For g e n e r a l  u s e  

16 

F o r  check ing  r e s i d u a l  g a p  on  p o l a r  relay 



H-6 

'Or use in 
designation s tr ip and lamp caps Irom manual switch boards 

Use with the detectoii ~ C C ~ S S  unit and 

.,D,U.,. 
field 

MONOPHONE TOOL 

For use on Types lA, 31, 35415 and 50 Monophones and 
Type 38 handset  a s  a r ece ive r  ea rp i ece  wrench, 
a spanner  wrench and with hookswitches having a 
collapsible (telescoping) plunger. Fo r  solid plunger 
use H-43172-1. 

For use in  visual inspection and gauging of relay contacts 
I 

LINESWITCH MOUNTING TOOL H-24528 

Approximately 10" 

For use in aligning plunger lineswitches 

MONOPHONE TOOL H-43172 

For use on Types lA, 31, 35A5 and 50 Monophones and 
Type 38 handset  a s  a r ece ive r  ea rp i ece  wrench, 
a spanner wrench and with hookswitches having a soiid 
plunger. Fo r  collapsible (telescoping) piunger use 
H-50754-1. 



BULLETIN 540 

PLIERS, DUCK BILL H-506.20 PLIERS, JACK SPRING H-880621-1 

I 

For general use 

PLIERS, DUCK BILL H-74611 

For g e n e r a l  u s e  in adjust ing spr ings  on re lays ,  
switches, etc. 

PLIERS, 30' DUCK BILL 

For  use in adjusting jack springs 

PLIERS, SPRING ADJUSTING H-16290-7 
(DIAL PLIERS) 

Approximately 
5 314' -4 

6" Radius radius 

\ 

F o r  use wi th  rotary cam springs and general spring Fo r  use in adjusting tension on dial governor, pulse and 
adjustment. Also f o r  use  in adjusting polar relay of shunt springs, Strowger switch wipers, and tensioning 
pre-pay and post-pay paystations (spring adjusting) master-switch governor springs. 



MAINTENANCE T W L S  

PLIERS, I D N G  NOSE H- 50619 PLIERS, OBLIQUE CUTTING H-22945 

F o r  general  us e 

Approximately 5" I---- 4 

For general use 

PLIERS, PAYSTATION -H-883377-1 

PLIERS, WIPER SPRING AND 
STROWGER SWITCH 

Approximately 5-1/2" 

<-J3 
0 / 

DETAIL NO. 5 

F o r  use in adjusting polar relay of pre-pay and post-pay 
paystations (cr imping)  

PLIERS, INSULATION SKINNING H-883312-1  

SECT 
A- A 

For genera l  u s e  F o r  use  on P.V.C. (22 A.w.G.) wire  



BULLETIN 540 

PLIERS, WIPER H-881674-1 

F o r  use in readjustment of Strowger switch wipers and 
reforming wiper tips that may be accidentally damaged , 

SOLDERING ISON, ELECTRIC 
m - 

H-883614-1 
and 2 

Detail #13 
L,74 

Detail # I t  

Detail #15 

For general use  

20 

Detail # I6 



MINTENANCE TOOLS 

SCRAPER, WIRE H[-25906-1 SLEEVE, PLUG D-18175-A 

~pproxlmatel i  3-3/8"-- l-3/18"1,4e 

- - - - - - - - - - 
---------- 

1 "" I- 

For use on plug sleeve (out of order plugs) 

.049" Spring steel 

For  general use 
SLEEVING, CLEANING TOOL D-542539-A 

SPACER, INSULATING D-440197 -A 
and B 

Approximately 2-1/8"- 

D-440197-A 1/16" thick 
D-440197-B 3/32" thick 

As spec'd. 

----- 
D-542539-A Packed Dry (Order per foot) 
H-880842-1 (90 ft. can with bottle of oil) 
H-881496-1 (90 ft.) abrasive webbing 

See Bulletin No. 506 "Care of 
Strowger Switch Bank Contacts" 
for other materials and instructions 

For u se  with 100 and 200 point bank cleaning tools 
H-16590-2 and 1 respect ively.  

Red fibre 

For use in blocking out lines on line and cut-off relays 
SUPPORT, SWITCH 

SPACER, INSULATING D-44757-A 

Gray fibre 

For  u s e  in s epa ra t ing  sp r ings  on B.C.O. (bridge 
cut-off) relay, to insulate protector springs and to hold For use in checking r ea r  of Strowger switch while on 
relay springs operated. shelf 



SCREWDRIVER ,H-24664 SCREWDRIVER, 
RIGHT ANGLE RATCHET 

F o r  general  use  

Approximately 3-7/8" 

-Offset ratchet handle 
I - 

SCREWDRIVER H-45963-1 
and 2 

SCREW DRIVER BLADE 
FOR ABOVE 
H-45963-2 

F o r  u s e  on power supervisor ' s  board 

For use on short  lever relay armature  and general use  

SCREWDRIVER, GUIDE PIN H-883182 

F o r  use on switchboard cord and plug assembly 

SCREWDRIVER H-880622-1 
SCREWDRIVER, KEY T Y P E  H-883794-1 

F o r  general  use  F o r  use on Model 21 I.B.M. writer  assembly (ticket 
printer) 

SCRE WDRWER, OFF-SET 

- SCREWDRIVER, KEY T Y P E  H-883822 

Aoproximately 3-1/2"- 

Blade on each end .037" maximum thickness 

F o r  general  u s e  

22 

F o r  adjusting se t sc rews  on s e r i e s  PTW polar re lays  



n/lAINTENANCE TOOLS 

SCREWDRIVER H-883858-1 

' For use on 8 Holt pan head screw ( e m e r g e n c y  report- 
ing telephone). 

TEST SET, DLALING AND TALKING H-880859-1 

Approximately 8-5/16'' 

For use in testing simplex-dialing intertolll selectors 
and trunks. 

TEST SET, ROTARY H-881174-1 

For use in routine maintenance of relay-interrupted 
10- and 20-trunk battery-searching selectors. 

PRECAUTION: Circuits of test sets must match those 
of equipment to be tested. 

TEST CLIP (D-542626-A) USED WITH .4 ONE CONDUCTOIt CORD 

Used with 4 conductor cord 
and s@e terrnindiolls 

TEST PLUG (D-541784-AJ USED W l T H  A FOUR CONDUCTOR CORI) 

Top view Top view 

BANK BUSYING TOOL 
(If-78977-12)(10 PT) 

BANK BUSYING TOOL 
(H-78977-1) 120 PT! 



TEST SET, TRUNK CIRCUIT H-883127-1 SWITCH TESTER, TYPE 26 H-883635-1 
(PORTABLE) 

000 
SUPY BUSY 2: 

DIAL 
8 TALK 'ING 

F o r  use in testing type 31 toll board trunk c:ircuits 

PORTABLE CASE, LESS COVER 

TEST SET, CURRENT FLOW H-882790-1 
(Model Sf 

JACKS 

For  general switch testing use. 

CONTROLS AND INDICATORS 

Use to  check adjustments of switches and relay;; 



MAI[NTENANCE TOOLS 

TEST SET, PULSING H-882240-1 TEST SET, TOLL SELECTOR. H-880623-3 
(VARYING MACHINE) "C" RELAY 

0 P 

@000@ 
C -L * L  B R D  I 

0 

0 
0 0 Front Side Rear 

PULS L 
MAGNET LEAK 

e 0 0  C R E L I V  LOOP SEIZIE U --A 

NOTE: Tes t  se t s  a r e  arranged f o r  bench o r  remote 
(shelf mounted) testing. 

For  use  in testing, pulsing, stepping and "B" relay 
action of t he  Strowger switch 

TEST SET, BUZZER H-23355-1, 
2, 3 and 4 

Assem. 1 for long distance 
Conslsts of dry cells, buzzer, jack, cord, operators telephone sc?t, condenser 
and resistor 

Assem. 2  for buzzer set 
Consists of dry cells, buzzer, jack, cord, condenser and resistoir 

Assem. 3  battery se t  for long distance 
Consists of dry cells, jack, operator's telephone set 

Assem. 4 for trunk testing 
Consists of dry cells, buzzer, jack, relays, cord, condenser and resistor 

For  use in trunk testing 

CORD & TEST PLUG ASSEMBLY D-543081-A 

(THIS W R D  AND TEST PLUG ASSEMBLY IS PART OF THE TEST SET) 

For use with toll selectors (Loop and simplex pulsing) 

TEST SET, LINEFINDER H-881444-1&2 

p~ Appr aximately 1'-1 - 2 5 / 3 2 7 1  a 
For use with linefinder switch 

2 5 



BULLETIN 540 

TEST STAND (STROWGER SWITCH) fI-881346-3 

~ ~ p p r o x l m a t e l y  8"A b-~pproxlmately 1 0 " q  

REAR VlEW END VIEW 

ASSEMBLY . 3  

All steel  construction using a 32 polnt shelf jack 

F o r  u s e  with l inefinders ,  connectors  and se lec tors  
having Navy jacks 

TEST STAND (STROWGER SWITCH) H--881346-1 

Apprm. 
6 - 5 1 8 ~ ~ ~  

REAR VIEW END VlEW 

ASSSMBLY I 

TEST STAND, DOUBLE WIDTH H-886263-1 
SWITCH BASE 

.,_I 
- 

K ~ p p r o x i r n a t e l y  11-1 1 Approximately 1'-4"--J 

ASSEM. 1 

For use in adjusting and testing ticketer 

--- 

TEST STAND (STROWGER SWITCH) H-881346-2 

Approximately 8" Approximately 10" 

REAR VIEW END VIEW 

ASSEMBLY 2 

For  use  with se lec tors ,  connectors, linefinders and For u se  with switches having a connector mounting 
miscel laneous re lay  groups having standard jacks. and Navy type jacks 



MAJNTENANCE TOOLS 

TEST STAND, UNIVERSAL H-881346-4 
(STROWGER SWVCH) 

HEAR VlEW 

ASSEMBLY 4 

For use a s  a holding fixture when testing and adjusting 
s tandard and spec i a l  length Strowger switches and 
relay groups having standard switch jacks. 

TEST LAMP H-16339-1 
and 5 

4 8  volt switchboard lamp D-94005-A ASTEMBLY 1 
24 volt switchboard lamp D-94025-A ASSEMBLY 5 

TEST SET, WIRE CHIEF'S H-882803-1 

1 

b-,,,,",,T , 2 TCST C*. SL*G 

+ S + , t , +  + + 

OUT (*I1 SM*T  :o+ 

+ + + + + + +  

+ NAMEPLATE + 

Approximate Dimensions 10;" X 1' 19" 

For use in small  automatic or manual exchanges for 
testing outside plant conditions and general exchange 
operation. 

PRECAUTION: Circuits of test  sets  must match those 
of equipment to be tested. 

TESTER, LINESWITCH 

LINE SWITCH TEST PENCIL 

ASSEMBLY NO. 

H-7443-5 
H-7443-6 
H-7443-7 
H-7443-10' 
H-7443-12 
H-7443-13 

For general use For use in testing plunger lineswitch operation. 



BULLETIN 540 

TEST SET, PORTABLE H-883227-1 TEST PLUGS D-57048-A 2 PT 

SET ' 
6 0  FULL 

S E T  PPS SCALE CALIB. PRESET 
FULL SCALE+ # # READING 

3 0  PRESET PERCENT 

For-use in making speed and percent make measurements 
on loop, ground, o r  battery pulses or  pulses derived 
from another source of 44 to 52 volts. 

6 PT. 

8 PT. 

For use in general testing 



MAINTENANCE TOOLS 

TEST, HAND TELEPHONE L-965 TOOL, BENDING H-882979-1 

For snap-on type normal post cam. $&Lo, bc 

For general switch room use and watchman's service. 
Uses plugs and cords below: 

TOOL, TENSION ADJUSTING 

D-542313-A (Cord included) 

2 POINT TEST PLUG ASSEMBLY 

D-542349-A 

CORD AND PLUG ASSEMBLY 

For emergency reporting telephone. 

D-542320-A 

CORD AND TEST CLIP ASSEMBLY 



BULLETIN 540 -B 

WRENCH, JACK FASTENER M-5656-1, 2 WRENCH, HEXAGON SOCKET 

For 9/16" nut 

For use on line switchboard sections 

WENCH,  HEXAGON SOCKET H-13748-1 

For 5/16" nut 

For  use on plunger lineswitch banks 
Assem. 2 

For  use  in mounting manual board jack s t r ips  WRENCH, HEXAGON SOCKET 

WRENCH, "S" HEXAGON 

3/8" nut .065" thick 5/16" nut 

For general use  

30 

For 7/32" nut 

For  use on hexagon head screw that fastens the double 
dog clamp, rotary and vertical clamp and the shaft spring 



MAI:NTENANCE TOOLS 

WRENCH, HEXAGON SOCKET H-7058-1 WRENCH, HEXAGON SOCKET H-10053-1 

C 

I-- Apprmlrnately 51~--- -4 

For 3/8" nut For 5/16" nut 

For use  on Strowger switch rotary magnets and For Use on plunger lineswitches and general use 
general use  

WRENCH, SQUARE SOCKET H-7061-1 

For 1/4" nut 

For use  on master switch shaft clamping screws 

WRENCH, MONOPHONE SPANNER H-43173-1 

For use in removing cradle from Types 1A and 31. 
Monophones 

WRENCH, SLOTTED NUT H-7065-1 

For use on #8 circular slotted nuts 



BULLETIN 540 

WRENCH, JACK THIMBLE I@-1221-A WRENCH, "S" HEXAGON H-20703 

Approximately 4-7/8" , 4 
For 5/8" hexagon nut .095" thick For 5/16" hexagon nut 

For use on rotary line switch Types 13 and 14 
For use  on jack thimble of magneto manna1 boards 

WRENCH, OPEN END H-880'773-1 

WRENCH, SPINTITE 8-46437-1 ,  

Approximately 6-1/8" 

~ ~ p p r o x i m a t e l y  2-7/8"-- '1 

For 3/16" nut 

For use in assembling wipers to Strowger switch shaft 

WRENCH, CAM NUT, SOCKET H-16480 

.: m 

Approximtely 2-1/2" 
0 1 -. .-. 

For use on dial cam nut 

WRENCH, HEXAGON SOCKET H-10772 

For 5/16" nut 

3/8" nut 1 /8" thick 7/16" nut 

For use with Type 44 and 45 switch 
.- - 

% .. 

WRENCH, "S" 

7/16" nut 9/16" nut 

For use on Type 29 ringing converter and general use 

WRENCH, "S" H-7062 

f 

1/4" nut ,065" thkk * 7/32" nut For use on flat type terminal str ip assemblies used in 
a hand drill or screw drivers having a chuck for holding 
interchangeable b lades  For general use and adjusting residual screw on relays 

32 



MAINTENANCE TOOLS 

WRENCH, "S" H-7063 WRENCH, OPEN END H-880772-1 

i 
Approximately 3-11/16" 

Apprcnlmately 3-1/ZW 

3/8" nut 1/8" thlck 5/16" nut 1/4" nut .089" thick 3/16" nut 

For general use For use with Type 44 and 45 rotary switch 

WRENCH, DIAL 13-25937 WRENCH, END H-23865 

qpening .256" max., .253" min. 5/8" nut 

For use on dial governor and cam nut Far use on rotary lineswitch armature adjusting screw 

WRENCH, "S" W-20309 WRENCH, OPEN END H-880672-1 

5/16" nut 1/8" thick 7/32" nut 
5/16" nut 25/64" nut 

For use on harmonic ringer 
For use on Strowger switch vertical and rotary magnet 
locking cap and general use 

WRENCH, PAYSTATION P-60481-2 

WRENCH, OPEN END 

t- Approximately 3-3/8" 

DETAIL NO. 2 
3/16" THICK 

C-~pprox~rnate~y 6-11/32"d 

5/16" nut 
5/16" nut .083" thick 1/2" nut 

For use in adjusting polar relay of pre-pay and post-pay 
paystations (tightening pivot screw lock nut) ' For use on Type 45 rotary switch 



BULLETIN 540 

WRENCH, WIPER H-7057 WRENCH, SOCKET KEY H-883793-1, 
2 and 3 

For  use on Strowger switch wiper with threaded hub 
and nut 

F o r  use  on Model 21 I.B.M. wr i t e r  assembly (ticket 
p r in te r )  

DRG. NO. 

H-883793-1 

H-883793-2 

H-883793-3 

WIPER, ASSEMBLY TOOL H-50829-1 

WRENCH, ARMATURE BENDING H-883847-1 

FIG. NO. 

B 

A 

A 

Assem. l 

For use in reassembling minor switch wiper 

F o r  use  on horizontal  (Class  A) re lays .  

B 

21/32" 

45/64" 

314" 

WRENCH, HEXAGON SOCKET, H-883772-1 
DOUBLE-END WITH SCREW- 
DRIVER 

For  use in adjusting relay armature residual screws 
and nuts (Engages 7/32" and 114" hexagon nuts) (Screw 
dr ive r  .02" thick) 

C 

1-27/32" 

1-31/32" 

2-3/32" 

M 

!069" 

.094" 

.110" 



MAINTENANCE TOOLS 

TEST PLUG AND CORD ASSEMBLIES See table for code numbers 

Fo r  use with exchange distributing frames (H-50830-1 and 2 a r e  l/2" centers) (H-880982-1 a r e  1" centers) 

Length 
*Or protector of Cord 

TYPICAL PLUG AND CORD ASSEMBLY 

A.E-Co. Type 676 

A.E.Co. ~ y p e  675 
10, 20, 21 and 22 pair 
banks 

A.E.Co. Type 675 
50-51 pair  banks 

1 Cook Electr ic  Co. 
Type 3800 

Cook Electr ic  Co. 
Type 100 

Cook Electr ic  Co. 
Type 60 

Cook Electric Co. 
Type 10 

W.E,Co. 
Type C-50 and C-52* 

W.E.Co. Type 1168, 
1169, 1268, 1269 and 
1177-A* - 

Reliable Electr ic  Co. 

*TEST CORD 

12'-0" 
18'-0" 

12'-0" 
18'-0" 

18'-0" 

12'-0" 
18'-0" 

l2'-O?' 
18'-0" 

18'-0" 

12'-0" 
18'-0" 

12'-0" 
18'-0" 

18'-0" 

12'-0'' 

ASSEMBLIES 

With spade termin& 
(Replacing twin plug) 

D-57068-C 
D-57068-D 

D-57140-C 
D-57140-D 

D- 57099 :C 
D-57099-D 

D-57141-C 
D-57141 -D 

D-57143-C 
D-57143-D 

D-57142-C 
D-57142-D 

2 

D-57060-A 

USE ASSEMBLY 

With twin plug for  
H-47082-1 jack box Or 
H-11022-11 tes t  box 

I)-57011-A 

D-57045-A 

D-57021 -A 

D-57017-A 

D-57014-A 

D- 57020-A 

PROTECTOR TEST PLUG. 

With twin plug 

H-50830-1 & a 

D-57068-h 
D-57068-B 

D-57140-A 
D-57140-13 

D-57107-A 

D-57'099-A 
D-57099-13 

D-57141-A 
D-57141-13 

D-57143-A 
D-57143 -13 

D-57142-A 
D-57142-13 

NOT SUPPLIED 

for jack assembly 

H-880982-1 

Db57068-H 
D-57068-5 

D-57140-E 
D-57140-F 

D-57107-B 

D-57099-E 
D-57099-F 

D-57141 -E 
D-57141-F 

D-57143-E 
D-57143 - F  

D-57142-E 
D-57142-F 

WITH W.E.CO. 



BULLETIN 540 

I I 



MAINTENANCE TOOLS 

DESCRIPTION 



BULLETIN 540 

PRODUCT-TOOL-USAGE GULDE 

TOOLS PRODUCTS 

RELAYS MISCELLANEOUS 
SWITCHES 

DESCRIPTION 



INDEX 

CODE NO . 

D-15455-A . . 
D-18175-A . . 
D.40059.A. B. C. D. 
D-44757-A . . 
D-57030-A . . 
D-57037-A . . 
D-57038-A . 
D-57043-A . 
D-57048-A . 
D-440197-A and B 
D-542407-A . . 
D-542539-A . 
D-731450-A and B 

. . 

E. F and G 

Numerical 

H-7056 . 
11-7057 . . .  
13-7058-1 . 
11-7059 . . 
H-7061-1 . . 
1-1-7062 . 
11-7063 . . . 
H-7065-1 . . 
H-7066 . 
13-7067 . . . 
H-7068-3 . . 
H.7443.5. 6. 7. 10. 
H-7541-3 . . 
H-10001-3 . . 
H-10053-1 . . 
H-10772 . . .  
H-10774 . 
H-11841-1 . 
H-13398-1 . . 
H-13700 . . . 
H-13701 . . 
H-13748-1 . 
H-14315-1 . 
H-14768 . . . 
H-14769 . . . 
H-16290-7 . 
H-16339-1 and 5 . 
H-16480 . . . 
H-16590-1 a n d  2 . 
H-16978-1 . . 

12. and 1 3  . 
. . . .  
. . . .  

. . .  

. . .  

. . .  
. . 
. . 

. . . .  
. . 
. . .  

. . 
. . 

PAGE . 

. 10 

. 21 

. 8 

. 21 

. 28 

. 28 

. 28 

. 1 4  

. 28 

. 21 

. 11 

. 21 
8 

1 
. 34 
. 31 
3 
. 31 
. 32 
. 33 
. 31 
3 
2 
2 
. 27 
. 1 5  
3 
. 31 
. 32 
. 30 
, 30 
. 6 
7 
2 
. 30 
. 1 4  
1 
2 
. 1 8  
. 27 
. 32 
. 11 
3 

Sequence) 

CODE NO . 
. . . .  H-20179-1 

. . .  H-20309 . . .  
H-20703 . . . . . . .  

. . .  H-20777 . .  
H-21766 . . . . . . .  

. . . . . . .  H-22945 
. . .  H.23355.1, 2. 3 and 4 . 

. . . .  H-23413-1 
. . . . . . .  H.23865 
. . . .  H-24528 . . .  

H-24600 . .  . . .  
. . . .  . . .  H-24664 

. . .  H-25314-1 . . .  
H-25906-1 . . . . .  . . .  H-25937 . . .  

. . .  H-26221-1 . . .  
. . . . .  H-26917 . . 

. . . . . . .  H.42873 

. . .  . . .  H-43172 . . . . . .  H-43173-1 . . . . . . .  H-44359 
. . .  H-44514-1 . . .  

H-45590 . .  . . .  . . . . .  H-45963-1 and 2 
. . . . . . .  H.46410 
. . . . . . .  H.46411 
. . .  . . .  H-46412 
. . . .  . . .  H.46413 

. . . . . .  H-46437-1 . . . . . .  H-46440-1 
. . . . . . .  H.46556 . . . . . . .  H-46557 . . . . . .  H-46716-1 . . . . .  H-46795-1 and 50 . . . . . .  H-46974-1 . . . . . .  H-46975-1 . . . . . . .  H-47202 . . . . . .  H-47386-1 . . . . . .  H-47754-1 

. . . . .  H-50448 . . . . . . . . .  H-50619 . . . . . . .  H-50620 . . . . . . .  H-50754 
. . . . . .  H-50829-1 . . . . . . . .  H-56518 

H-56628-1 and 2 . . . . .  . . . . . .  H-56628-4 . . . . . . .  H-64670 
. . . . . . .  H-64980 

. . . . .  H.74573.1and2 . . . . . . .  H.74611 . . . . . . .  H-88385 . . . . . . .  H-88390 

PAGE . 
3 
. 3 3  
. 3 2  
4 
. 2 2  
. 1 9  
. 2 5  
3 
. 3 3  
. 1 7  
4 
. 2 2  
8 
. 2 1  
. 3 3  
. 2 1  
. 1 2  
4 
. 1 7  
. 3 1  
4 
. 1 3  
4 
. 2 2  
1 
4 
. 6  
2 
. 3 2  
. 3 0  
9 
. 8  
4 
. 1 6  
5 
5 
2 
. 1 0  
. 2 2  
. 3 2  
. 1 9  
. 1 8  
. 1 7  
. 3 4  
1 
. 1 0  
. 1 1  
5 
5 
. 1 0  
. 1 8  
5 
5 



INDEX (Cont'd.) 

CODE NO . 

Numerical Sequence) 

PAGE . CODE NO . 
H-88409 . . . . .  . 1 5  H-883596-1 . . 

. . .  . . .  H-88436 . . 1 8  H-883614-1 and 2 
H-88502-1 . . . 1 H-883635-1 . . . . . . .  
H-88503-1 . . .  7 H-883699-1 . . . . 
H-88504-1 and 2 . . I . - .  6 H-883772-1 . . . . 
H-88844-1 and 2 . . . . .  9 H.883793.1. 2 and 3 . . 

. . .  H-880263-1 . 2 6  H-883794-1 . ! . . 
H-880621-1 . . . . .  1 8  H - 8 8 3 8 2 2  . . . .  

. . . .  H-880622-1 . . 2 Z t  H-883847-1 

. . . .  . . .  H-880623-3 . 2 5  H.883857.1 
. . .  H-880672-1 . 3 3 .  H-883858-1 . . 

. . . .  . . .  H-880771-1 . 33 H-883998-1 

. . . .  H-880772-1 . . 33 H-883999-1 

. . . .  H-880773-1 . . . . 3 2  H-884000-1 

. . . .  H-880790-1 (Model S) . . .  24 H-884148-1 
H-880859-1 . . 2 3  H-884149-1 . . . . 

. . . .  H-880922-1 . . . 1 7  H-884210-1 
H-881174-1 . 23 
H-881346-1 . . . . 2 6  

. . .  H-881346-2 . 26 
H-881346-3 . . . t .  . . 26 
H-881346-4 . . .  27 
H-881384-1 . . . . . .  7 

. . .  H-881419-1 . 1 6  

1 
H-881425-1 . . .  1 3  L-965 . . . . . . .  
H-881444-1 and 2 . . .  . 2 5  
H-881513-1 . . . . . 16 
H-881602-1 and 2 . . .  
H-881603-1 . . . 
H-881637-1 . . . 
H-881674-1 . . . . .  
H-881859-1 . . . . .  
H-882240-1 . . . 
H-882553-1 . . . . .  

. . .  H-882568-2 . . 
H-882674-1 . . . . .  
H-882803-1 . . . . 
H-882816-1 and 2 . . 
H-882816-3 and 4 . . . .  
H-882979-1 . . . . .  
H-883114-1 . . .  . . 
H-883127-1 . . . . .  
H-883182 . . . . .  
H-883227-1 . . .  . . 
H-883312-1 . . . . 
H-883377-1 . . . . .  
H-883384-1 . . . . . 
H-883584-1 . . . . 
H-883595-1 . . . .  

M-6656-1 and 2 . 

PAGE . 



1 \ 

\ \ 

\ 
8 I- 

\ 

Subs~d~arylof 
4 GENERAL TELEPHONE'& ELECTRONICS 

Makers of Telephone, Signalink, and ~ommunication Apparatus . . . Electrical En 

\ -"\ 

', 
L 1 .  

, ' ASSOCIATED RESEARCH A N D  MANUFACTURING COMPANIES 
- 
Automatic Electric Laboratories, Incorporated - - - - - - - Northlake, Illinois, U. S. A. , I 

Automaric Electric (Canada) Limited - - - - - - - - - - Brockville, Ontario, Canada 
Automatique ~ i e c t r i ~ u e ,  S.A. - - - - - - - - ' -  - - - - - - - - Antwerp, Belgit~m 
'l 

I 
, Automatic Electric, S. A.T. A. P. - - - - - - - - - - - - - - - - - - Milan, Italy 

i 

\ I . 
\ - ,  

- AUTOMATIC ELECTRIC SALES CORPORATION 
- -  \ . , ,Northlake, Illinois, U. S. A. 

Sales Ofices in All Principal Cities 

I - 
' ' /  GENERAL EXPORT DISTRIBUTOR 

- 
i PYTOMATIC ELECTRIC INTERNATION-4L 

I s . INCORPOPATED 
, I  i -- Northlake, Illinois, U. S. A. 

, ,' 

\ ( #  

- 
I \ 

REGIONAL DISTRIBUTING COMPANIES AND REPRESENTATIVES 
P 

i - ARGENTINA, U R ~ G U A Y ,  PARAGUAY, EUROPE, NORTFI AFRICA, 
\ ,CHILE, AND BOLIVIA AND NEAK EAST 

i .- ,> 1 
L. Piti liani Automatic,Electric Internationa 

I , Caixa bostal9212 40 Rue DuJ Rhone - Sao Paulo, Brazil Geneva, Switzerland 
\ ,  

BELGIUM AND LUXEMBOURG ' 
I AND NETHERLANDS 

' i .  I 

I . 
)> 

, I Automatic Electric do Brasil, S.\A. - 
Caixa Postal 9W2 - 
Sao Paulo,, Brazil 

I 

CANADA \ ' 
\ MEXICO 

Automatic Electric Sales (Canada) Limited + 

185 Eartley Drive 
Toronto 16,Pqtario, Canada Apartado Postal 20642 

i ,  Mexico 6, D.F., byexico 
1 '  \ .  

.s CENTRAL AMERICA , 
I R. R. Sanders 

Apartado 313 J. P. Maclaren 
Saa Salvador, El Salvador Apartado Aereo 3968 

1 Bogota, Colombia 
\ COLOMBIA - I  

i- . 
Automatic Electrk de Colombia, 5.A.' /VENEZUELA 

Apartado Aereo 3968 
i Bogota, Colombia % 

I Other Sales Representuiiws and Agents Throughout the World 

- 




